10 7 6 5 4 3 2 1

PART NO MATRIX \OPTIONS,
8/ (83| |0 |P| 8 |I||2]|0] M| | X X |X||[X||H

_ i POLES: HEADER: ) UNIT: LENGTH: COUPLING NUT:
88 = M12 - V12 3 =3 POLES||0P8 = PNP STRAIGHT I%B_LE'M > PVC GRAY M= METER EXAMPLE: BLANK = KNU
FEMALE TO e o0 o m OVERMOULD:
. 050 =5m : .
MALE/MALE 90 1002 100 BLANK = BLACK SCALE 3:4
A = GREY
G =BLACK
Y = YELLOW
R =RED
H = 2x I/D CARRIER
LENGTH+TOL. (SEE PART LIST
- ( FN ) > WIRING DIAGRAM
— (46.5) +\/ BROWN
2 - (31) BLACK
x| - YELLOW LED g
SIS <
s - iy E e
o | m
| 2 VBLUE | | Z
JE3
o
GREEN LED 1 O

CABLE PRINTING :
MOLEX "MOLEX P/N" "ENGINEERING NO." "MX PRODUCTION YEAR & WEEK"
FOR EX: MOLEX 1200678158 8830P8120M010 MX2212

PART LIST

MOLEX P/N | ENGINEERING No. | LENGTH(mm) MOULDING CLEAR COMPOUND NOTES :
1200678158 | 8830P8I120M010 1000 M12x1 ELECTRICAL DATA :

1200678159 | 8830P8120M020 2000 VOLTAGE RATING : 60V
1200678160 | 8830P8120M030 3000 AMPERAGE RATING : 4A

INSULATION RESISTANCE : 10°Q MIN.
MATING CYCLES : MIN. 100
ENVIRONMENTAL :

BOM
11 1 |MMC-PNP LED PCB(SCALLOPED)ROHS| - - PROTECTION : IP67 IN MATED AND
10 1 M12 MALE COUPLING NUT BRASS TEFLON COAT LOCKED POSITION

. o [e]
9 3 |CONTACT MALE BRASS | SOND OVER VIEW FROM THE FRONT SIDE OPERATING TEMPERATURE : -25°C TO +80°C
8 1 M12 MALE INSERT PUR BLACK
7 1 GASKET FPM RED TABLE OF LENGHT TOLERANCES (mm) F%r\\};\)ﬁgglr_\jé% ZT:AIENDSF.{Q:VJ%,G;S?ONZ\CTEEINFOE’:’EQNTARLS EZ%F?IE’@;Z?EM;;E;E\I}TSCEEONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
6 1 M12 FEMALE COUPLING NUT BRASS | TEFLON COAT OVER HE: [8 5*.'#18 TOLERANCE &- 0l _mm | 3:2 molex

SELECTIVE GOLD - o] RAES
5 3 CONTACT FEMALE BRASS OVER NICKEL 0 305 +19 ANGULARTOL ¢  10° CSE M12 3P AC FE STR PVC MA RA SHLD XM
4 1 INSERT M12 FEMALE 3P TPU BLACK g?g ?;20 :gz W Olapiaces - E(F;av’:l/& K;SSTRMANH 2022/05/27 O
DIVISIONAL + 'D:
3 PCB SIDE OVERMOULD TPU TRANSPARENT 1830 13660 189 SYMBOLS Zitizz — gggRD:. EB/;EEEEEE ggg;gggﬂg DG CUSTOMER DRATING
2 OVERMOU LD TPU BLACK 3660 7320 +1 65 1 PLACE N 03 |N|T|AL REV'S'ON DOCUMENT NUMBER DOC TYPE| DOC PART | REVISION
1 _ CABLE 3X0.34MM PVC GRAY - : DRWN: MDHARMANTI 2022/05/27 12006781 59 PsD| 000 A
- 7320 | 14640 +317 OPLACES |+ 05 |APPR: FDAFERNER 2022/06/10

ITEM No.| QTY. | DESCRIPTION MATERIAL | FINISH/COLOR 14640 | 30500 +610 DRAFTWHSEREAPPL\CABLE THIRD ANGLE PROJECTION DRAWING SERIES MATERIAL NUMBER CUSTOMER SHEET NUMBER
DOCUMENT STATUS | P1 | RELEASE DATE | 2022/06/10  08:33:47 | 30500 |> +2% OF LENGTH WITHN OVENSIONS @ -E=1 | A3-SIZE | 120067 | SEE PARTLIST | GENERAL MARKET 1 OF 1

10 9 8 7 6 5 4 3 2 1




